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< BEKXZE > 1 fiz 24pt HWAst 71154 &=
g8 | STEE 10mS60 S1 S2 S3 S4 S5 S6 B/a a5t pt
A | 35| ok #3m | 103.0 | 102.6 | 103.2 | 102.9 | 102.5 | 100.5 614.7
35 | EEE | 102.7 | 104.6 | 103.7 | 103.0 | 103.9 | 101.9 619.8 18465 | 8
E | 35| A %% | 1009 |102.6 | 101.8 | 102.0 | 102.2 | 102.5 612.0
8% | STEE 50mP60 P1 P2 P3 P4 P5 P6 B aft pt
4 | 33| =) m#E | 101.9 | 101.9 | 101.2 | 104.7 | 102.2 | 1026 614.5
3 | 33| vk &R | 102.9 | 100.5 | 100.3 | 103.4 | 102.5 | 102.8 612.4 1829.9 8
2 | 33| & @k | 1022 1003 | 102.0 | 985 | 102.3 | 97.7 603.0
SiB¢ | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 B/ XD# ot pt
Y | 17| = AR 95 93 93 97 97 99 99 94 91 91 97 91 | 1137 | M
33 | bk HBER 9% 98 96 98 98 99 99 98 94 93 94 90 | 1151 | 37 3439 8
33 | bk m@F 93 93 97 92 99 98 99 99 98 91 97 95 | 1151 | 40
< b N > 2 fiz 18pt Best 70141 =
i8¢ | STEE 10mS60 S1 S2 S3 S4 S5 S6 B= a5t pt
E | 26| #K& #i— | 101.0 | 101.1 | 98.8 [ 101.5 | 102.0 | 102.1 606.5
26 | #T Y8 | 100.3 | 100.1 | 102.8 | 104.2 | 101.8 | 99.7 608.9 1826.0 | 6
A | 26 2l F 101.6 | 101.2 | 103.7 | 99.8 | 101.7 | 102.6 610.6
S8t | HE 50mP60 P1 P2 P3 P4 P5 P6 BR aft pt
4 | 26| sk #— | 1014 | 1035 | 1015 | 102.0 | 102.8 | 995 610.7
3 | 26| &2 &8 | 101.8 | 102.2 | 101.8 | 101.4 | 102.1 | 101.0 610.3 1820.1 7
2 | 26 | fh# K% | 1020 | 1009 | 96.8 | 99.8 | 101.4 | 98.2 599.1
g8 | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 B/ XD a5t pt
Y | 26| #Ak #i— 87 94 93 9% 93 95 9% 98 95 93 94 95 | 1129 | 29
10 | RE a8 91 95 92 92 9% 97 98 100 | 87 EN) 92 90 | 1120 | 36 3368 5
X | 26| i K= 91 86 90 89 95 98 95 97 9% 95 94 93 | 1119 | 26
< AR KRS > 3 fiz 17pt WA 70116 =
8% | STEE 10mS60 S1 S2 S3 S4 S5 S6 (I aft pt
A |30 | =@ #m— |1029] 1020 | 101.1 | 101.9 | 103.7 | 1015 613.1
30 | EH s 98.5 | 100.4 | 103.5 | 100.7 | 101.8 | 99.8 604.7 1819.5 5
E | 30 mE & 102.8 | 98.8 | 101.2 | 101.0 | 99.3 | 98.6 601.7
STEE | STEE 50mP60 P1 P2 P3 P4 P5 P6 B/ a5t pt
2 | 29| s #x | 1023|1006 | 101.9 | 103.1 | 97.0 | 98.4 603.3
3 | 29| Em st 985 | 98.2 | 99.6 | 101.5 | 99.9 | 1015 599.2 1815.1 5
4 | 29 | #n mkes | 1006 | 102.8 | 103.0 | 102.5 | 103.6 | 100.1 612.6
g8 | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 B/a XD# a5t pt
29 | B fEE 91 95 91 94 96 94 9% 97 92 90 88 90 | 1114 | 34
Y | 13| #)1 EaAkER 95 98 95 95 98 96 98 98 90 9 95 93 | 1145 | 45 3377 7
Y | 29| E#H A 94 9% 96 94 96 95 9% 95 90 95 85 88 | 1118 | 36
< REKRFE > 4 fx 15pt BEE 6969.7 =
S8 | HE 10mS60 S1 S2 S3 S4 S5 S6 = &t pt
D | 32| =4 4# | 101.8]| 101.2 | 101.2 | 101.3 | 101.4 | 102.9 609.8
E | 32 LA $R% | 103.4 | 101.9 | 101.6 | 100.8 | 100.0 | 100.1 607.8 1827.0 7
A | 32| #E =& |1028]| 998 | 1015 | 101.4 | 101.3 | 1026 609.4
s | s 50mP60 P1 P2 P3 P4 P5 P6 B a5 pt
3| 31| =K g 98.9 | 100.4 | 100.0 | 101.7 | 98.7 | 101.2 600.9
2 | 31| %E % 99.0 | 99.1 | 100.9 | 102.2 | 98.8 | 101.0 601.0 1807.7 | 4

4 1 31 NEE) BB 100.8 | 100.4 | 102.6 | 100.7 | 101.3 | 100.0 605.8




8% | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 B= XD a5t pt
31| =K 48 93 94 9 9 97 97 93 92 89 92 9 87 | 1112 | 28
31| 2R A 93 93 92 90 98 95 97 96 90 89 93 93 | 1119 | 32 3335 4
15 | /EY B 90 90 89 92 96 98 95 9% 89 89 93 87 | 1104 | 24
< BfEAKXE > 5 iz 12pt %At 69389 =
st | s 10mS60 s1 s2 s3 s4 S5 S6 B a5t pt
A | 29 A/ ® 98.3 | 100.3 | 101.2 | 102.9 | 102.7 | 99.7 605.1
D | 29| #mm &t | 1024 | 101.8 [ 99.7 | 97.4 | 1025 | 99.6 603.4 17936 | 3
E | 29| #HF =8 95.7 | 975 | 100.1 | 99.3 | 96.0 | 9655 585.1
18 | STEE 50mP60 P1 P2 P3 P4 P5 P6 B a5t pt
2 | 28| #3 =@ | 101.6 | 101.0 | 100.7 | 100.3 | 100.7 | 99.7 604.0
3| 28| &7 w2 99.2 | 100.2 | 99.0 | 102.4 | 97.4 | 101.4 599.6 1817.3 6
4 | 28 A/ ® 102.4 | 103.6 | 101.7 | 102.0 | 102.4 | 101.6 613.7
18 | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 8= XD# aft pt
X | 28| &F 2 90 93 95 93 96 98 9% 98 87 89 89 88 | 1112 | 31
Y | 28 AN w® 93 91 97 93 95 98 95 9% 97 94 93 88 | 1128 | 35 3328 3
Y | 12| R &h 89 91 91 93 88 95 94 98 86 84 92 87 | 1088 | 19
< Eifip = > 6 iz 8pt A5t 6380.0 =
g8 | STEE 10mS60 S1 S2 S3 S4 S5 S6 B/ a5t pt
A | 28| R A
D | 28 | [@#& ## | 100.7 | 100.8 | 101.4 | 99.1 | 100.6 | 103.5 606.1 1224.9 0
E | 28| /Ul #f& | 1025 | 100.4 | 103.7 | 104.8 | 103.7 | 103.7 618.8
8% | STEE 50mP60 P1 P2 P3 P4 P5 P6 B |t pt
2 | 21| m& A 98.3 | 99.9 | 99.1 | 984 | 974 | 973 590.4
3| 27| NI A 98.4 | 100.6 | 985 | 99.3 | 100.5 | 100.5 597.8 1780.1 2
4 | 27| BmE EH 99.4 | 948 | 98.4 | 1022 | 99.2 | 97.9 591.9
Si8¢ | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 B/ XD# &aft pt
X | 21| HE F 88 9% 91 9% 97 96 97 97 92 90 91 88 | 1119 | 30
Y[ 11| AN A 9% 9% 93 93 94 97 98 9% 93 98 94 89 | 1137 | 36 3375 6
Y | 27| ®mE (EH 91 97 9% 93 95 98 98 99 88 85 92 87 | 1119 | 24
< EBKE > 7 fi 6pt WAt 68642 =
18 | STEE 10mS60 S1 S2 S3 S4 S5 S6 Be a5t pt
A | 36| bk fEE 99.0 | 101.9 | 99.0 | 100.3 | 100.9 | 98.9 600.0
D | 36 | %el ¥—pBp | 102.1 | 98.6 | 101.5 | 101.9 | 101.8 | 97.4 603.3 1809.9 4
E |36 | F7 &% 98.7 | 1025 | 100.4 | 1015 | 99.6 | 103.9 606.6
18 | STEE 50mP60 P1 P2 P3 P4 P5 P6 B &t pt
2 | 34| vk z=ig 972 | 944 | 955 | 946 | 96.3 | 987 576.7
3 | 34| sedg E—eB | 981 | 944 | 986 | 969 | 995 | 984 585.9 1773.3 1
4 | 34| A& 8% | 1023 | 101.0 [ 101.9 | 101.7 | 104.0 | 99.8 610.7
STEE | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 /e XD# ot pt
X | 3| 7 &% 89 90 81 89 86 92 93 9% 92 88 89 93 | 1076 | 21
Y | 18 | & 54 93 97 95 97 97 97 98 99 92 91 91 97 | 1144 | 40 3281 1
Y | 34| v 248 81 87 92 93 97 94 95 97 83 82 82 78 | 1061 | 22
< IMEEKRE > 8 fiz 5pt WA 62940 =
8% | STEE 10mS60 S1 S2 S3 S4 S5 S6 B |t pt
A | 33| ez mA | 981 | 1008 [ 100.6 | 101.2 | 102.0 | 98.8 601.5
D | 33| R % | 103.0 | 101.7 | 103.4 | 100.3 | 102.4 | 101.1 611.9 12134 | 0
E | 33| EaI =E
SiEE | STEE 50mP60 P1 P2 P3 P4 P5 P6 5= &t pt
2 | 32| mmE =EAE 98.3 | 98.3 | 99.7 | 100.2 | 97.8 | 100.4 594.7
3| 32| B ma 983 | 97.8 | 984 | 98.0 | 96.7 | 928 582.0 1789.6 | 3
4 | 32| Ex)l mE | 1022 | 104.4 | 103.0 | 98.8 | 102.4 | 102.1 612.9
g8 | STEE 50m3 x40 K1 K2 K3 K4 P1 P2 P3 P4 S1 S2 S3 S4 B/ XD a5t pt
X | 32| EaE ®A | 88 91 91 87 99 95 93 92 88 90 90 91 | 1095 | 19
Y | 16 | BN L 88 86 91 95 97 97 98 9% 76 79 87 80 | 1068 | 22 3291 2
Y | 32| Eall mE | 9% 9% 97 91 9% 94 97 97 88 91 95 90 | 1128 | 29




